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1/1 2119 FEAER [Eapia 36. 42 61.8
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1/5 2222 it e 5 =K 45. 04 50. 5
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1/7 2177 b el Jii 1:11.38 68

1/3 2258 X iR =L 1:12. 14 67. 4

1/6 2104 KR it 1:13.60 66. 2

1/1 2089 Tk KM IR 1:18. 46 62. 8
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1/4 2197 BT =K 0 * JON *

DAY THMKARE 2P0 400K H HK

E A 4 iE 5 W % B xS a B % ¥E
1/6 2104 KR T 5:39.50  66.90000153
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2 1/3 2068 TR piiikig 6:10. 12 11
3 1/7 2065 e piibg 6:21.04 10
4 1/5 2194 R geas 6:22. 64 9
5 1/2 2101 MR G [R5 6:39. 08 8
6 1/1 2152 R 1 geas 6:41.37 7
7 1/8 2200 XS =K 11:06. 12 6
1/4 2213 2R AR =K - iR -

DAL THMKERE 22—  50KH Mk

EZITe 4 iE G 5 w4 LA B i o = #® IE

1/5 2068 AR i 33.91 72.2
1/2 2084 % BB i 35. 40 69. 8
1/6 2101 Mrigth i 35. 70 69. 4
1/3 2194 FRER Jii 41. 64 61.1
1/4 2241 e =K 50. 42 50.9
1/7 2200 XS =K 1:06. 45 0

DAL THMKAERE 2= 100KH K

EZIY 4 iE G 5 w4 LA B i o = #® IE

1/7 2068 AR i 1:16. 64 70. 7
1/4 2084 % BB i 1:18.38 69. 4
1/3 2101 Mrigth 2y 1:21. 47 67.2
1/6 2194 R4 F Jii 1:29.13 62. 4
1/2 2241 S =K 1:53.16 49.7
1/5 2200 XS =K 2:28.60 0
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1/7 2068 R ik 3:13.65 68. 2
1/3 2101 MRERE i 3:29. 52 63. 8
1/6 2194 FRERF )i 3:38.57 61.6
1/2 2241 1 R =K 4:34.52 49.3
1/5 2200 XS =K 0 * JUML *
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EZIe 4 iE i 5 w4 LA B % o = #®IE

1/4 2084 ¥ BB ik 6:06. 11 67
1/7 2068 R ik 6:10. 12 66. 4
1/6 2194 FRERF iFes 6:22. 64 64.5
1/3 2101 MR ta [2pc2 6:39. 08 62. 3
1/2 2241 e =K 8:10. 43 51.2
1/5 2200 B =K 11:06. 12 0
50. D& F H Bk EhE i SR
% R H/E W 5 w4 Bofr B 5 B 4 % =

1 1/7 2068 ARE ik 277. 50 13

2 1/4 2084 % B BE ik 274.90 11

3 1/3 2101 RN [2pc2 262. 70 10

4 1/6 2194 R4 F )i 249. 60 9

5 1/2 2241 e =K 201. 10 8
1/5 2200 B =K 0

DAL Ak 4xRE 22—  50KAMK

% 4 JE G 5 " 4 LI B 81 o ME # 1

1/3 2117 BB 2N 38. 87 72.6
1/4 2078 S FRI, 43.07 66. 5
1/5 2188 1717 i 44. 54 64.4
1/6 2071 X Jik v IR 48. 45 59.9

DA Lk 4B 2= 100Kk

% 4 JE G 5 " 4 LI B 81 o ME # 1

1/4 2117 B 2N 1:21.25 73.2

1/3 2078 S FRI, 1:34.33 64.7

1/6 2188 1717 i 1:37.67 63
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DI Lk azfe 2= 200K NIRGIK
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1/4 2117 BB s 3:06. 23 70.5

1/3 2078 S IR 3:12.62  68.59999847
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1/3 2078 SREE IR 6:11.84  66.09999847
1/6 2188 177 Jigi 72 6:48.31  61.09999847
1/5 2071 X fik i IR 6:50.21  60.90000153
51. DL FAPvk4ahE SEE RS
% W’ H/E w5 w4 BoOAL B &R B/ o &
1 1/4 2117 BEE [E2pi52 285. 30 13
2 1/3 2078 SEE IR 265. 90 11
3 1/6 2188 l75:2 g 252. 10 10
4 1/5 2071 plen Pkl 120. 80 9
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EAN/4 4 I8 B 5 4 LR ) W 4 5 % 7F
1/3 2097 BRI i 48. 33 66. 1
1/5 2152 IR 11 B Jip 57.65 56. 7
1/6 2246 JH R =K 59. 57 54. 8
1/4 2213 =Rk =K 1:06. 92 48.7
DAH A FEdkAERE 2 100Kk
EAN/4 4 I8 B 5 4 LR ) W 4 5 % 7F
1/4 2097 BRI i 1:45.08 65. 1
1/5 2246 JE SR =K 2:13. 14 52.5
1/3 2213 AR =K 2:22.99 48.7
1/6 2152 T B ks * JUML *
DAL Tk R 2= 200K PN NIEEWK
EANNYY 4 B i = % LR V) W 4 a4 &% I
1/4 2097 B ik R 3:25.54  64. 69999695
1/6 2152 Wi 2% i 3:47.71  59.40000153
1/3 2213 E3SES =K 0 * JOHL *
1/5 2246 JE SR =K 0 * JUML *
DA FiEdkARE 2P0 400K H Hk
% Wk 4B i = % LR V) oA a4 A &% I
1/6 2152 R 1 i 6:41.37 62
1/4 2097 Bk R 6:47.40  61.29999924
1/5 2246 JE R =K 10:00. 70 0
1/3 2213 S =K 0 Hhig
52. DAL F vk AR LA S
% K’ H/1E W 5 w4 Bofr w8t B 45 & =E
1 1/4 2097 BEFK R R 257. 20 13
2 1/6 2152 (1T~ i 178.10 11
3 1/5 2246 JE R =K 107. 30 10
4 1/3 2213 2R AR =K 97. 40 9
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1/3 2065 7E I 3:11.93  68.80000305
1/6 2156 T8 JEL IR I 3:22.12  65.69999695
1/5 2076 HEW IR 3:37.20  61.90000153
DA Tk ARE 2P 400K EH Hk
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1/4 2114 LN €7/ [E2pi52 6:02.82  67.59999847
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1/5 2076 HE ik 6:46.96  61.29999924
53. DEH L Filtvk4ashe ZEA S
% K H/E W 5 w4 Bfr B 5 B o % E
1 1/4 2114 ik 2y 281. 00 13
2 1/3 2065 »E ik 265. 10 11
3 1/6 2156 7 B i 256. 50 10
4 1/5 2076 HE ik 242. 40 9
54. DL F200K M NIRA K CRTD LA S
% R H/E W 5 w4 Bofr B 5 B 4 % =
1 1/4 2114 ik R 3:04. 82 13
2 1/2 2084 % B BE ik 3:12. 14 11
3 1/6 2078 SREE ik 3:12.62 10
4 1/5 2156 78 BT ke 3:22.12 9
5 1/7 2097 B R R 3:25.54 8
6 1/1 2188 W it 3:30. 39 7
7 1/3 2241 e =K 4:34.52 6
55. DZH4c1-4X 100K H Hiki% /) LA S
% R H/E W 5 w4 Bofr B 5 B 4 % =
FEE B2E
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2 1/6 ¥ PR, Mt PRI, 5:50. 30 11
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2/4 2130 R 2 34. 45 64. 6

1/5 2057 R by 35. 40 63.3



2/6 2192 TR g 35.93 62.5
2/5 2236 B =K 37.33 60. 5
2/2 2234 RER =K 39. 15 58
2/3 2096 S ik 39.90 56. 9
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2/3 2143 kil 2y 1:14.78 65. 2
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1/3 2192 TR ke 1:18.18 63
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2/2 2236 B =K 3:22.50  60. 70000076
2/4 2057 AR IR 3:25.17 60
2/1 2096 AR FAIR 3:33.56  57.79999924
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